



1) partial fraction Method

Steps :-

) Find Inverse z-transform of
$$X(z) = \frac{z+4}{z^2-4z+3}$$

$$X(z) = \frac{Z(z+4)}{Z(z^2-4z+5)}$$

$$\frac{\chi(z)}{z} = \underbrace{z+4}_{z+3}$$

$$\frac{z+4}{z(z+)(z-3)} = \frac{d}{z} + \frac{B}{z-1} + \frac{C}{z-3}$$

$$5 = B(-2)$$
 $4 = A(-1) - 3$

$$4 = A(-1) - 3$$

$$\frac{x(z)}{z} = \frac{4}{3z} - \frac{5}{2(z-1)} + \frac{7}{6(z-3)}$$

$$X(z) = \frac{4z}{3z} - \frac{5z}{2(z+1)} + \frac{7z}{6(z-3)}$$

 $x(h) = \frac{4}{3} S(h) - \frac{5}{2} u(h) + \frac{7}{6} (3)^{h} u(h)$ SNS College of Technology Signals and Systems/Unit IV J.Prabakaran AP/ECE

Find the Inverse z-bransform of
$$\chi(z) = \frac{1}{(1+z^{-1})(1-z^{-1})^2}$$

Roc : |z| >1

$$X(z) = \frac{1}{(1+1/z)(1-1/z)^2}$$

Multiply & Divide by z2

$$\chi(z) = \frac{z^2}{z^2} \frac{1}{(1+1/2)(1-1/2)^2}$$

$$X(z) = \frac{1}{\left(\frac{z+1}{z}\right)\left(\frac{z-1}{z}\right)^2} \cdot \frac{z^2}{z^2}$$

$$\frac{\chi(x)}{z} = \frac{z^2}{(z+1)(z-1)^2}$$

$$\frac{z^{2}}{(z+1)(z-1)^{2}} = \frac{A}{z+1} + \frac{B}{z-1} + \frac{C}{(z-1)^{2}}$$

$$z^2 = A(z-1)^2 + B(z+1)(z-1) + c(z+1)$$

put
$$z = -1$$

put $z = 0$
 $1 = A(4)$
 $0 = \frac{1}{4} + B(-1) + \frac{1}{2}$

$$\frac{x(z)}{z} = \frac{1}{4(z+1)} + \frac{3}{4(z+1)} + \frac{1}{2(z+1)^2}$$

$$X(z) = \frac{z}{4(z+1)} + \frac{3z}{4(z-1)} + \frac{z}{2(z-1)^2}$$